FAB

SERIES




BYSi5%HE / MODEL ILLUMINATE EHEESF] / GEAR BOX PERFORMANCE INFORMATION

3 208 342 588 1,140
4 140 290 542 1,050 1,700
— — — S 5 22 60 160 330 650 1,200 2,000
FAB 090 10 | | s2 | B / 53k 6 20 55 150 310 600 1100  1.900
! o ! o i 7 19 50 140 300 550 1,100 1,800
a i h : ! 1 8 17 45 120 260 500 1,000 1,600
PTTTTTITTTT T e O : 10 14 40 100 230 450 520 1,220
. o coy ; 12 20 55 130 208 342 588 1,140
) OREAER o . Py T ; 15 20 55 130 208 342 588 1,140
' FAB042/FABOBO/FAB090 Ll WHMEEESTREREM L SRS ; : 20 19 50 140 290 542 1,050 1,700
: o S2: MitrEHM 11 DAk RS i A T Nm 25 22 60 160 330 650 1,200 2,000
! FAB115/FAB142/FAB180/FAB220 | L || : | 30 2% 55 130 208 342 1,200 2,000
: Pl e : 35 22 60 160 330 650 1,200 2,000
—————————————————————————————————— e e 9 40 22 50 140 290 542 1,200 2,000
! : 50 22 60 160 330 650 1,200 2,000
ARttt Rt (ARt at . 60 20 55 150 310 600 1,100 1,900
: P : 70 19 50 140 300 550 1,100 1,800
| | I depy . . P |
| RUEL  RH(L1) 34567.8,10 Lo E’“ﬁ'PO RETR | 100 14 4 10 230 50 50 1220
l M (L2) : 12,15,20,25,30,35,40,50,60,70,80,100 | TREER : BAHIH NIETzs Nm 1,2 3~100 fEEEmH
: Lo Pz;w,ﬁﬁﬁg ; HE BN rpm 1,2 3~100 5,000 5,000 4,000 4,000 3,000 3,000 2,000
: [ - BARBANEREn: rpm 1,2 3~100 10,000 10,000 8,000 8,000 6,000 6,000 4,000
R T E R oo . ; 1 3~10 — — <1 <1 <1 <1 <1
BERER PO arcmin 2 3-100 . . - = = = =
> ===iE - _10-S9. _ e . 1 3~10 <3 <3 <3 <3 <3 <3 <3
1#%EF37EMH) : FAB090-10-S2-P2/MHMD-082G1U s P -
=TS . 1 3~10 <5 <5 <5 <5 <5 <5 <5
ERR P2 aremin 2 12~100 <7 <7 <7 <7 <7 <7 <7
NI Nm/aremin 1,2 3~100 3 7 14 25 50 145 225
BR8] I Fas? N 1,2 3~100 780 1,530 3,250 6,700 9,400 14,500 50,000
BYFIRE SIF 20162 N 1,2 3~100 350 630 1,300 3,000 4,000 6,200 35,000
B YFHE FIF 26 N 1,2 3~100 390 765 1,625 3,350 4,700 7,250 25,000
ERFEwm hr 1,2 3~100 20,000*
. . 1 3~10 >97%
ME n . 2 12~100 >94%
- kg 1 3~10 0.5 1.3 3.7 7.8 14.5 29 48
2 12~100 0.8 1.9 4.1 9 17.5 33 60
fERR T 1,2 3~100 -10°C~+90°C
B 1,2 3~100 & BEE A
a2t 1,2 3~100 IP65
REFM 1,2 3~100 FEHE
1238 ( n1=3000rpm ) dB 1,2 3~100 <56 <58 <60 <63 <65 <67 <70
IR IR E
0.03 3.25 28.98 69.61
4 0.03 o 14 0.48 2.74 7.54 23.67 54.37
5 0.03 0.13 0.47 2.71 7.42 23.29 53.27
1 6 0.03 0.13 0.45 2.65 7.25 22.75 51.72
7 0.03 0.13 0.45 2.62 7.14 22.48 50.97
8 0.03 0.13 0.44 2.58 7.07 22.59 50.84
10 0.03 0.13 0.44 2.57 7.03 22.51 50.56
_ 12 0.03 0.03 0.13 0.47 2.71 7.42 23.29
W RE, kg-cm? 15 0.03 0.03 0.13 0.47 2.71 742  23.29
20 0.03 0.03 0.13 0.47 2.71 7.42 23.29
25 0.03 0.03 0.13 0.47 2.71 7.42 23.29
30 0.03 0.03 0.13 0.47 2.71 7.42 23.29
2 35 0.03 0.03 0.13 0.47 2.71 7.42 23.29
40 0.03 0.03 0.13 0.47 2.71 7.42 23.29
50 0.03 0.03 0.13 0.44 2.57 7.03 22.51
60 0.03 0.03 0.13 0.44 2.57 7.03 22.51
70 0.03 0.03 0.13 0.44 2.57 7.03 22.51
80 0.03 0.03 0.13 0.44 2.57 7.03 22.51
100 0.03 0.03 0.13 0.44 2.57 7.03 22.51
TJBIELL (i=Ni/Now) A 2 i 100rpm B, AT HHMPOMLE,

09 10



ENAELEZ B TFERD KM SMiZRTEZ / OUTLINE DIMENSION SHEET

REDUCER OUTPUT SHAFT OF THE PERMISSIBLE RADIAL FORCE AND SHAFT AND FORCE

L FAB-042-L1

BN/ INPUT %5 Hitis/OUTPUT
I 2 605

Fas Fan - FOEN B RS 2 R ARE D REME S, BN 42

F= Y = HAZ R, BENRAARTHHARRAEEN &I , & B >g< b5 1 ] ) |_i
- )| RASEANERARMEAR. . T Ol
© pE I
Fx 2B _— ) 0 |
Fa 311 7 .— 5 %‘; Y 1 ~1

Qg( T 5.9 26

4-M4x10

950

g

42
|

° |

@35h7

|

[N
|
|
|

L
|
[
i

e
@30G7

1

L2 8 B F s I T A O

BFFRERA A Fae[NIbEDFil O E BEIX=1/2xLE , FTEAMAEZ
RIRALTE R [E AR RE A
TEAF®HR20,000hr* AT
100,000 A > BURE NFos ,
60,000 ESRER  MEAZIZR FAB-042-1.2
40,000 - V48 SIF208 , A
R FAB220
20,000 F2a18=0.2XxF2r8 110
10,000 Feze=0. TP NI/ INPUT % ” HHtHiH/OUTPUT
6,000 - ~ FAB180 :
4,000 T FAB142 4 195 "
~ FAB115 S
2,000 o< — = = ' >EC P51 v | N
T T~—__/ FAB090 % 1 O e
1,000 & . rmmffﬁ—jp 5 Y
\\\\\_\/- FAB060 g | @ | é _LI:;_:%_ —rr - — 1 - },,,,ti,ﬂ:_ é é
\\\s }
- H - FAB042 O, | & 10 . _.‘t_. 4
10 20 40 60 100 200 400 600 1000 2000 }( g 3 L ‘—
. T 26
8 5 5% 3 n: [rpm) 4-Max10 =
LR 8 AF oo 7 A 12 30 A O
B, 5 EN A
{7 B 51 T3 R Bk X<1/2xL , Fiee&S 2B
REAZEKX , Bz =R EN
1.5 . BIX > 1/2xLAEY , FreERE =
14 FABO42 @ﬁﬁﬂﬁﬂﬂﬂl"]‘ 3 %E‘E
1.3 , RORENAAE RE [ S
1.2 ‘\\ FABOGO WHREX SHEBAKN
1.1 \\ FAB090 FERKs , ERATH AR ,
1.0 NN FAB115 REEH
0.9 \ \\\ N FAB142 En7
0.8 \\\\ ‘%‘ F’2is=KbxF2rs
0.7 AN FAB180 B 5
0.6 ‘\ N 2\ Q\ FAB220 lljzam:g.?x::zna
. \ Z> N "2a28=0.1XF’2r8 ‘ ‘
05 N \0‘\8\ N 7\4\\\\\ IR ST AEEYS S2
0.3 [ ™SI T T T
0 40 80 120 160 200 =240 280 320 360 400
REAEANME X[mm] ENDIRERER R ATiRES 2K R,

*The input motor specific dimensions could be customised,
* ERERBREEASFH 52— .

1" 12



SMZRTE% / OUTLINE DIMENSION SHEET

IR / INPUT

FAB-060D(M1)-L2

NI / INPUT

950

i AM¢2 /Output Diameter

5hg

M5x0.8P M5x0.8P
216h6 16h6
B S1 B S2

13

@50h7

* C1~CTRARIREDIAEEIRC R AT iRES A ERBIREH.

* C1~C7are motor(metric standard) specific dimensions, which could be customised.

« DEFLMTARPRFL

= D: Conventional Hole, M1: Limit Hole

co s / OUTPUT
37 c8
285 6
[ o
322 Al ¥
(]
E h—o _ _ Ilg =
g =1 I 8l 8
15 !
15 I C6 o
[
1
! cio
c4
g / OUTPUT
c9
37 c8
28,5 6
b2 @ &
I
r—- |_ R
= - —|- — |- -H ] 2
15 !
5 , ce 9
[
1
I c10
c4
R~ (0% (0 (0%) C4|C5|C6|C7|C8|C9|C10
FAB-060D-L1 785 1155 5.5
@66.7 4-M4x10 8 34 9381 5 60
FAB-060D-L2 107.5 1445 55
FAB-060D-L1 785 1155 55
@70 4-M4x104-M5x12 11,014 34 @50 5 60
FAB-060D-L2 107.5 1445 55
FAB-060M-L1 85 122 12
@90 4-M5x12,4-Méx14 @19 42 @70 65 80
FAB-060M-L2 14 151 12

SMiZRTE% / OUTLINE DIMENSION SHEET

BN / INPUT c9 LI / OUTPUT
48 c8
36,5 8 9%
c7
& );( jg{\ 4 _ 28 i S
| =\~ = [ iy ) I By A (7 -
© S EH— It 3l S8 N7 53
| [ | | &J e} /
&3 4 ! 5 2
= 2 H— )
' 6
= ~H— c10 o116 / 407
c4
FAB-090D(M1)-L2
NI / INPUT c9 §iHi% / OUTPUT
48 c8
36,5 8 %
i 28 | ] . o
|
5 e O 0 _‘(_(D_L_g‘ B 75N <
© g I | . [ ] (&) Qy } (<>}
| | N
C1 1,5 7 c10 /ij
L c4 @116; 4-07

R~ C1 C2 (0%) C4 | C5|C6|C7|C8|C9|C10
- MB8x1.25P @90  4-M5x12,4-M6x14 @19 42 @70 65 80 99 147 7
0 FAB-090D-L1
<! 4-M6x14 @16 42 @80 65 86 99 147 6
@115 4-M8x20 19,822 565 @95 8 100 1145 162.5 16.5
FAB-090M1-L1
@145 4-M8x20 219,022,024 59 @110 11 130 117 165 19
ihEE S2 266.7 4-M4x10 o8 34 @381 5 60 123 171 55
FAB-090D-L2
@70  4-M4x10,4-M5x12  @11,814 34 @50 5 60 123 171 55
@90 4-M5x12,4-M6x14 @19 42 @70 65 80 12951775 12
FAB-090M1-L2
@100 4-M6x14 @16 42 @80 65 86 12951775 11

¥ C1~CTRATIREDREERC R RIS FERRIREM.
* C1~C7are motor(metric standard) specific dimensions, which could be customised,
* D:EMFLMTARBRFL
» D: Conventional Hole, M1: Limit Hole
14



SMiZRTEZ / OUTLINE DIMENSION SHEET

FAB-115D(M1)-L1

N / INPUT g / OUTPUT
c9
65 c8
51 o 115
- r
5 kw0 i
\©\ :
~ & fr-an o | =
© Nl iaekdl o : LSS
1
28 |2 U s
H 3
12 ol
c4
FAB-115D(M1)-L2
N/ INPUT s /OUTPUT
c9
65 c8
51 o 115
b4 = : &
1
& fr-an T 5
R e WM HEEIL
28 |2 m f 1
2 [ cwo
12 c4

M12x1.75P M12x1.75P

m FAB-115D-L1 @145 4-M8x20 219,022,024 64 @110 10 130 134 199 195

FAB-115M1-L1 @200 4-M12x28 @35 81 @114.3 10 180 151.5 216.5 28

A= s1 B S2 @90  4-M5x12,4-M6x14 219 42 @70 65 80 150.5 2155 7
FAB-115D-L2

@100 4-M6x14 216 42 @80 65 86 15052155 6

115 4-M8x20 19,022 565 @95 8 100 166 231 165

FAB-115M1-L2
@145 4-M8x20 @19,022,024 59 @110 11 130 168.5 233.5 19
* C1~CTRABIRNEDIAEERC R eIRIEE FERRIREM.
* C1~C7are motor(metric standard) specific dimensions, which could be customised,

« D:EMFLM1TARBRFL

+ D: Conventional Hole, M1: Limit Hole
15

SMiZRTEZ / OUTLINE DIMENSION SHEET

FAB-142D(M1)-L1

AR/ INPUT HiHiw/OUTPUT
Cc9
o7 c8
79 12
b 65 : g”
1
= 1
~ 5 m=== r=- __I‘lfT 5
° g T e 8
| cs
e : G
| T
15 cio
C4
FAB-142D(M1)-L2
BN/ INPUT HiHiw/OUTPUT
C9
97 c8
79 12 142
5 o S
I | ] !
= 1
5 S ylglte o I I
° R e N I B = p e R
1
36 3 . e E Cé 5
| é___ L
15 c10
c4

M16x2.0P
(o7

ISt 51 T FAB-142D-L1 2145  4-M8x20 222,224 72 @110 11 130 155 252 195
@200 4-M12x28 @35 815 @1143 8 180 165 262 25

FAB-142D-L2 @145  4-M8x20 219,022,024 64 @110 10 130 199 296 195

FAB-142M1-L2 200 4-M12x28 @35 81 ©@1143 10 180 216.5 3135 28

¥ C1~CTRATIREDREERC R RIS FERRIREM.
* C1~C7are motor(metric standard) specific dimensions, which could be customised,
* D:EMFLMTARBRFL

= D: Conventional Hole, M1: Limit Hole
16



Mz R~TEZ% / OUTLINE DIMENSION SHEET

SMZRTEZ / OUTLINE DIMENSION SHEET

FAB-220-L1

BNIR/INPUT 27 it/ OUTPUT
105 182
180 82 15
®/ I \® -
/N /N = 670 D &
B $
Jﬁ- O
= 1 =] @
g gl =p— 4 — SN R L -
s| 1 I
Q) o
// N s 2.3 !
o © D
N e L
T
20
4-M12x30 85
FAB-180-L2
IR/ INPUT 27 iR /OUTPUT
105 232
180 82 15
S
6 70
- O .
S r—e==mr [l B
</ e/l | e i i B 1 e o LR ST
Q §
| 3 8
T
20 ]
83

16h9

M20x2.5P
3
@556
BT S1 A S2

A DIREER R RIS P 2RI,

*The input motor specific dimensions could be customised.

17 .

iR/ INPUT 3645
138 265
20 105 20
7w D
gl e 1 B N = g
a| SIS
2|3 7
D
4M12x30 &0 120
FAB-220-1.2
IR/ INPUT
45
138 277
105 Y
180
R
7 % D ]
Jﬁ- O -
= [T~ === T N 8
S| T 1T T B
S ] S
7
2|3
T
4M12x30 2 85

5 4M7=/Output Diameter

20n9

795 _
|

M20x2.5P

| 27506 _|

A S1

A 52

950

HitHi%/OUTPUT

HiHis/OUTPUT

EANDIKEERC R FIRIES P 2RI,

*The input motor specific dimensions could be customised.

18



